# A Stage-structured Single Species Model with Diffusion 一类具有阶段结构的单种群扩散模型

Liu ShengqiangLuo GuilieSu Fanglin刘胜强罗桂烈苏方林

(Dept. of Math., Guangxi Normal Univ., 3 Yucailu, Guilin, Guangxi, 541004) (广西师范大学数学系 桂林市育才路 3号 541004)

**Abstract** A stage-structured single species model with diffusion is considered, where all the parameters are constants. The system, which is composed of two patches, has one species which is divided into immature and mature. And the mature can diffuse between the two patches while the immature population is confined to one patch and cannot diffuse. We get the boundary of the solution and the existence of the positive equilibrium of the model, and obtain the asymptotically stabilities of the positive equilibrium of the model and the positive equilibrium under proper conditions we prove that the unstability of the spot (0, 0, 0).

**Key words** stage-structured, diffusion, positive equilibrium, asymptotically stable 摘要 提出并研究了一类具有阶段结构的单种群扩散模型,得到其在正平衡点处的稳定性和在零平衡点处的不稳定性。

关键词 阶段结构 扩散 正平衡 渐近稳定性中图法分类号 Q 141

The study about single species density dependent models was early found in 1938 when V erhulst–pearl established the following equation [1]

$$\frac{\mathrm{d}N\left(t\right)}{\mathrm{d}t} = \frac{r_{m}}{K}N\left(t\right)\left(K - N\left(t\right)\right)$$

Here, N(t) is the density of the species in time t;  $r_m$  is the intrinsic rate of natural increase and K is the carrying capacity of the system. It was proved in the work that the positive equilibrium was unique and global stable.

Though the model above approaches to the real more close than the density independent model, its faults are apparent. First, it is unfit to the species which can diffuse among several patches; second, the life stage structure of the species is ignored in such a model.

Later, in 1986, Freedman established the diffusive single species model<sup>[2]</sup>, but the stage structure was still ignored. Since for many species, it is well known to all that the rate of death and the ability of diffusion and predator is greatly different, thus it is significant to study the stage-structured model. In recent years, such work appeared in reference [3~5], however, in their models, the species are confined in one close environment and cannot diffuse. The stage-structured single species model with diffusion, which is more realistic than all of the

above, still remains unstudied. Therefore it is significant to propose and consider such model in our pa-

$$\begin{cases} \dot{x}_1 = bx_2 - gx_1 - dx_1^2; \\ \dot{x}_2 = gx_1 - D_1x_2^2 + \lambda_1(y_2 - x_2); \\ \dot{y}_2 = -D_2y_2^2 + \lambda_2(x_2 - y_2). \end{cases}$$
 (1)

Here, we classity the single species into immature and mature.  $x_1(t)$  is the density of the immature and  $x_2(t)$  is that of mature in patch 1,  $y_2(t)$  is the density of the mature in patch 2. In our model, b is the birth rate into immature and g is the grow th rate into mature from immature. We assume the mature can diffuse between patch 1 and 2, and  $\lambda_1, \lambda_2$  are the diffusion coefficients. For the immature, it is confined in patch 1 and cannot diffuse.  $D_1, D_2$  are the density dependent coefficients of the mature and d is that of the immature.

For the ecological meaning, we assume the system satisfies

$$b > 0, g > 0, d > 0, D_1 > 0, D_2 > 0, \lambda_1 > 0, \lambda_2 > 0$$

### Main results

**Lemma 1** Suppose (H<sub>1</sub>) holds true, then  $R_{+}^{3} = \{ (x_{1}, x_{2}, y_{2}) | x_{1} > 0, x_{2} > 0, y_{2} > 0 \}$  is a positive invariant set of (1).

**Proof** The system (1) will be discussed by the following three steps.

(i) 
$$x_1 |_{x_1 = 0, x_2 > 0} = bx_2 > 0$$
.

(ii) 
$$x_2 \Big|_{x_2 = 0, x_1 > 0, y_2 > 0} = gx_1 + \lambda_1 y_2 > 0.$$

<sup>1998-07-08</sup>收稿。

<sup>\*</sup> Supported by Foundation of Education Dept. of Guangxi-

(iii) 
$$y_2|_{x_2 > 0, y_2 = 0} = \lambda_2 x_2 > 0$$
.

From (i), (ii) and (iii), the assertion of the lemma follows immediately for all  $t \in [0, +\infty]$ . That completes the proof.

**Theorem 1** Assume system (1) satisfies (H<sub>1</sub>) and the condition b - g > 0, then there exists a compact region  $K \subseteq R^3$  such that for each solution  $(x_1(t), x_2(t), y_2(t))$  with positive initial value  $x_i(0) > 0$ ,  $y_2(0) > 0$ , (i = 1, 2). There exists T > 0 such that  $\{x_1(t), x_2(t), y_2(t)\} \in K$  for all  $\triangleright T$ .

**Proof** Let

$$f(t) = \max\{x_1(t), x_2(t), y_2(t)\},\$$

$$\mathring{M} = \max\{\frac{b-g}{d}, \frac{g}{D_1}\}.$$

Obviously  $f(0) = \max\{x_1(0), x_2(0), y_2(0)\}$ . By Lemma 1f(t) > 0 and there exist some  $t \ge 0$  and a function k(t) in  $x_1(t), x_2(t)$  and  $y_2(t)$  such that f(t) = k(t) for the t. It is easy to see that f(t) is continuous and right upper derivable. Now, we caculate and estimate the right upper derivative of f(t) as the following two cases

**Case** (i) If  $f(0) \le M$ , here M is positive constant and satisfies M > M. We consider as follows.

(a) When  $f(t) = x_1(t)(t \ge 0)$ , it comes from the first equation of system (1) that

$$|D^{\dagger} f(t)|_{f(t)=M} = M - gM - dM^2 =$$

$$dM(\frac{b-g}{d}-M) \leqslant dM(M^{\dagger}-M) < 0.$$

(b) When  $f(t) = x_2(t)$ , it comes from the second equation of system (1) that

$$D' f(t)|_{f(t)=M} gM - D_1 M^2 = D_1 M(\frac{g}{D_1} - M)$$

$$\leqslant D_1 M(M^* - M) < 0.$$

(c) When  $f(t) = y_2(t)$ , from the last equation of system (1) it comes that

$$D^{+} f(t)|_{f(t)=M} - D_2 M^2 < 0.$$

Let

$$T = - \min\{dM(M^{\dagger} - M), MD_1(M^{\dagger} - M), - M\}$$

Then T > 0 and by (a), (b), (c),  $f(0) \le M \Rightarrow f(t)$  $\le M \text{ for all } \ge 0$ . Case (i) is completed.

**Case** (ii) If f(0) > M, by the similar proof to Case (i), we can have

$$D^{+} f(t)|_{f(t)>M} < - T < 0.$$

Then f(t) will monotonously decrease by the speed more than Tif f(0) > M. Let  $T = \frac{f(0) - M}{T}$ , now

we prove there must exist a positive constant T in  $(0, T_1]$  such that f(T) = M.

If, for all  $t \in [0, T_1]$ , f(t) > M holds, then we have  $D^{\dagger} f(t) < -T < 0 (t \in [0, T_1])$ . An integration of the inequation about t on  $[0, T_1]$  leads to  $f(T_1) - f(0) < -TT_1 = M - f(0)$ , then  $f(T_1) < M$ . A contradiction to our assumption. This prove that there exists a constant T which satisfies  $0 < T \le T_1$  and f(T) = M. Therefore by Case (i) we ob-

 $tain f(t) \lesssim M \text{ for all } \geqslant T.$  Case (ii) is compeleted.

$$K = \{ \{x_1(t), x_2(t), y_2(t)\} | 0 \leqslant x_1(t), x_2(t), \\ y_2(t) \leqslant M \}$$

By Case (i) and (ii), for all the solution of (1) with positive initial values, we have

$$\{x_1(t), x_2(t), y_2(t)\} \in K(t \geqslant T)$$

That completes the proof.

The following Lemma is about the existence of the positive equilibrium of system (1), it is

**Lemma 2** There is at least one positive equilibrium of system (1) which is denoted as  $E = (x_1, x_2^*, y_2^*), (x_1^* > 0, x_2^* > 0, y_2^* > 0).$ 

Proof Let
$$\begin{cases}
bx_2 - gx_1 - dx_1^2 = 0, \\
gx_1 - D_1x_2^2 + \lambda_1(y_2 - x_2) = 0, \\
- D_2y_2^2 + \lambda_2(x_2 - y_2) = 0.
\end{cases}$$
(2)

From the second and the third equations of system (2) we get

$$\frac{g}{\lambda_1}x_1 = \frac{D_1}{\lambda_1}x_2^2 + \frac{D_2}{\lambda_2}y_2^2. \tag{3}$$

While by the third equation we obtain

$$x_2 = \frac{D_2}{\lambda_2} y_2^2 + y_2. \tag{4}$$

Substitute (3), (4) into the first equation in (2) we have

$$\frac{d\lambda_{1}^{2}}{g^{2}}y_{2}^{3}\left[\frac{D_{2}}{\lambda^{2}}+\frac{D_{1}}{\lambda^{1}}\left(\frac{D_{2}}{\lambda_{2}}y_{2}+1\right)^{2}\right]^{2}+\lambda_{1}y_{2}\left[\frac{D_{1}}{\lambda_{1}}\left(\frac{D_{2}}{\lambda^{2}}y_{2}+1\right)^{2}\right]$$

$$+\frac{D_2}{\lambda^2}$$
] -  $b(\frac{D^2}{\lambda^2}y_2 + 1) = 0.$  (5)

Clearly, the left part of (5) is a seventh-order multinomial where the coefficient of its first nomial is positive. Let  $f(y_2)$  be the left part of the equation (5), we obtain

$$f(0) = -b < 0, f(y_2) \rightarrow + \infty \underset{*}{\text{when } y_2 \rightarrow} + \infty$$
.

Then there exists at least one  $y^2 > 0$  such that  $f(y_2^*) = 0$ . By (3), (4) we know  $x_1^* > 0$ ,  $x_2^* > 0$ . Denote  $E = (x_1^*, x_2^*, y_2^*)$ , then the proof is completed.

Now, by making use of Lemma 2, it comes the following theorem.

**Theorem 2** Assume (H<sub>1</sub>) and

$$\lambda_1 + \lambda_2 > b$$
 (H<sub>2</sub>)

hold, then every positive equilibrium of system (1) is asymptotically stable.

**Proof** By Lemma 2, the existence of positive equilibrium of (1) is assured. From system (1) the Jacobian matrix on *E* is presented as follows.

$$J(E) = \begin{pmatrix} -g - 2dx^{*} & b & 0 \\ g & -\lambda_{1} - 2D_{1}x^{2} & \lambda_{1} \\ 0 & \lambda_{2} & -\lambda_{2} - 2D_{2}y^{2} \end{pmatrix}.$$

Then, the characteristic multinomial of J(E) is as follows.

Let  $A = g + 2d_1x_1^*$ ,  $B = \lambda_1 + 2D_1x_2^*$ ,  $C = \lambda_2 + 2D_2y_2^*$ , then A, B, C > 0 and

 $|\lambda I - J(E)| = \lambda^3 + (A + B + C)\lambda^2 - \lambda^1\lambda^2 A - gbC + [AB + BC + AC - (\lambda_1\lambda_2 + gb)]\lambda + ABC$ Noticing  $BC > \lambda_1\lambda_2$ , then it leads to

 $(A + B + C)[AB + BC + AC - (\lambda_1\lambda_2 + gb)]$  $(ABC - \lambda_1\lambda_2A - gbC)$ 

 $= 2ABC + \lambda_1\lambda_2A + gbC - \lambda_1\lambda_2(A + B + C) - gb(A + B + C) + A^2(B + C) + B^2(A + C) + C^2(A + B)$   $= 2ABC + BC(BC - \lambda_1\lambda_2) + C(BC - \lambda_1\lambda_2) + A^2(B + C) + B^2A + AC^2 - gb(A + B)$ 

>  $ABC + (ABC + A^{2}B + A^{2}C + A^{2}B) - gb(A + B) + AC^{2} > (A + B)[A(B + C) - gb] > (A + B)(g\lambda_{1} + g\lambda_{2} - gb) = g(A + B)(\lambda_{1} + \lambda_{2} - b) > 0.$ 

Therefore, by Routh-Huruitz Theorem, the characteristic roots of J(E) have negative real parts, then there exists a constant c>0 such that all the real parts of characteristic roots are smaller than—c. Thus, from reference [6], Theorem 1, system (1) is asymptotically stable on E. Such competes the proof.

We can also get the following Theorem

**Theorem 3** Assume (H<sub>1</sub>) holds, then the point (0, 0, 0) is the unstable equilibrium of system (1).

**Proof** By system (1), the Jacobian matrix on (0, 0, 0) is

$$J(0) = \begin{bmatrix} -g & b & 0 \\ g & -\lambda_1 & \lambda_1 \\ 0 & \lambda_2 & -\lambda_2 \end{bmatrix}.$$

Then its characteristic multinomial of J(0) is

 $F(\lambda) = |\lambda I - J(0)| = (\lambda + g) [(\lambda + \lambda_1)(\lambda + g)]$ 

 $\lambda_2$ ) -  $\lambda_1\lambda_2$ ] -  $bg(\lambda + \lambda_2) = \lambda^3 + (g + \lambda_1 + \lambda_2)\lambda^2 + [g(\lambda_1 + \lambda_2) - gb(\lambda_1 - gb\lambda_2)]$ 

Since  $F(0) = -gb_2 < 0$ ,  $F(+\infty) = +\infty$ , there must exist a constant  $\lambda^* > 0$  such that  $F(\lambda^*) = 0$ . Therefore from reference [6], (0,0,0) is the unstable equilibrium of the system. Thus completes the proof.

## Acknowledgement

The authors thank research fellow Chen Lansun, Institute of Mathematics, Academic Sincia, for his warmly helps.

#### References

- Lansun Chen. Mathematical ecological model and resercher method, Beijing Science Press, 1988.
- 2 Freedman H I, Rai Bindh Gachal, Waltman Paul. Mathematical models of population, interactions with dispersal II: differential survival in a change of habitat. J Math and Appl, 1986, 115 140~ 154.
- Walter G, Aieclo, Freedman H I. A time-delay model of single-species growth with stage structure. Mathematical Biosciences, 1990, 101 139-153.
- 4 Aiello Walter G. Freedman H I, Wu J. Analysis of a model representing stage-structured population growth with state-dependent time delay, SIAM J Appl Math, 1992, (3): 855-869.
- Wang Wengdi, Chen Lansun. A predator-prey system with stage-structure for predator, Computers Math Applic, 1997, & 83~91.
- 6 Zhang Jingyan. The geometric theory and bifurcation problems of ordinary differential equations. Beijing Beijing University Press, 1981. 166, 169.

(责任编辑: 蒋汉明)

# 一类变系数 KdV 型方程的孤立波解

谷 元 蒋志方 谷 艺

下列变系数  $K\mathrm{d}V$  型方程描述了一个水深变化的 浅水河道中的突变现象  $^{\scriptscriptstyle [1]}$ 

$$u_t + \mathrm{T}(t)uu_x + \mathrm{U}(t)u_{xxx} = 0, \tag{1}$$

其中 T(t) 和 U(t) 都为可微函数. 在本文中, 我们构造(1) 的如下形式的解

$$u(t,x) = B(t) + A(t)F(s) - A(t)F(s)^{2},$$
 (2)

其中  $F(s) = 1/(1 + \exp s)$ , s(t,x), B(t) 和 A(t) 为 待定函数 ,并且  $s_{xx} = 0$ .把 (2) 代入 (1), 比较  $F^{j}$  的系数 ,我们可以得到:

$$F^{5} \cdot 2A^{2}s_{x} T - 24As_{x}^{3}U = 0;$$
 (3)

$$F^{4}: 60As_{x}^{3}U - 5A^{2}s_{x}T = 0, (4)$$

$$F^{3} - 50As_{x}^{3}U + (4A^{2} - 2BA)s_{x}T - 2As_{t} = 0;$$
 (5)

$$F^2: 15As_x^3U - (A^2 - 3BA)s_x^2T + 3As_t - A_t = 0, (6)$$

$$F^{1}: As_{x}^{3}U + BAs_{x}T + As_{t} - A_{t} = 0;$$
 (7)

$$F^{0} \cdot B_{t} = 0. \tag{8}$$

由式(3)~(8)我们得到 B为一个任意常数,并且

$$A = 12 \frac{U(t)}{T(t)} s_x^2, A_t = 0, s_t = -U_{s_x^3} - BT_{s_x}, \quad (9)$$

由此得到  $U(t) = I^{T}(t)$ ,其中 I为一个任意常数.由 (9)和  $S_{xx} = 0$ ,我们可以得到

$$s(t,x) = kx - (k^3l + kB) \int T(t) dt,$$
 (10)

其中 k为一个非零常数.容易证明  $F(s) - F(s)^2 = (1/4) \operatorname{sech}^2(s/2)$ .因而,如果满足条件  $U(t) = I^{\mathrm{T}}(t)$ ,则方程 (1) 有如下孤立波解

$$u(t,x) = B + 3lk^2 \sec h^2(\frac{1}{2}s),$$
 (11)

其中 s如 (10)所示.文献 [1]中的结果不包含解 (11).

我们发现,这种直接方法还可以应用于许多变系数的反应扩散方程的求解.

#### 参考文献

1 Zhixiong Chen, Benyu Guo, Xiang Longwan. Complete integrability and analytic solutions of a KdV-type equation, JMath Phys, 1990, 31, 2851~ 2855.

(第一作者单位: 山东工业大学计算机系)